= B, w25y Division ( 2 Stellen )

Name: Datum: Ergebnis: __
14+2= 63+9= 87+3= 54+2= 32+2=
48 +2 = 32+2= 40+ 8= 56+ 4= 96 +2 =
96+ 6= 20+2= 33+3= 4+2= 36 +3=
24+3= 4+4= 1I8+2= 56 +8= 82 +2=
88+ 4= 9+3= 42 +6= 20+5= 48 + 6=
85+5= 66+ 6= 18 +9 = 15+5= 72+6=
N+2= 98 +2= 16 4= T2+2= 78+ 6=
28+4 = 12+6= 2+2= 42 7= 66+~ 6=
24+3= 9 + 6= 70+2= 62+2= 84+ 4=
80+ 5= 84+3= 20+4= 20+ 5= 34+2=
64+4= 98+2= 98+7= T2+6= 56+7=
52+2= 20+4= 84+6= 90 + 6= 77+17=
0B +7= 56+4= 54+6= 63+7= N+4=
1I8+3 = I5+3= 20+2= 26 2= 12+3=
20+5= 56 4= 64+2= 93+3= 18+2=
60+ 4 = 48+ 6= 60+ 5= 2+2= 93+3=
88+ 4= 69+3= 87+3= 72+3= 98 +2=
57T+3= 65+5= 95+5= 90 +6= 35+5=
S51+3= 78+ 6= I5+3= 66+ 6= 18+2=
16 +4= 70+ 5= 48 +3 = 60+5= 12+2=
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